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THE GAUHATI HIGH COURT AT GUWAHATT

(The High Court Of Assam, Nagaland, Mizoram and Arunachal Pradesh)

FOR WRITTEN TEST OF THE LIMITED DEPARTMENTAL EXAMINATION FOR PROMOTION OF
GRADUATE GRADE-III (NON-MINISTERIAL) & GRADE-IV STAFF TO THE POST OF JUDICIAL
ASSISTANT IN THE PRINCIPAL SEAT OF THE GAUHATI HIGH COURT

Date: 25-02-2023 Time: 11:00 AM to 12:30 PM
Total Marks: 50 _Duration: 1:30 Hours

Total Number of Questions 41.

1. Write an essay on any one of the follbwing topics:- . 1 x 10 marks

a) Global Warming
b) The Supreme Court of India
c) Honesty is the best policy

Question no. 2 to 41 carry 1 (one) mark each. There is no negative marking.

Choose the correct answer from the options given against each question or fill in the correct
answers in the questions given below:-

2. Who was the first speaker of the Legislative Assembly of Assam after Independence?

a) Babu Basanta Kumar Das b) Debeswar Sarmah
c) Mohendra Mohan Choudhury d) Jogendranath Hazarika

3. What is the source of river Brahmaputra?

a) Parsuram Kunda b) Nepal ¢) Kailash ranges of the Himalayas d) Ladakh

4. Digboi Refinery was established in which year?

a) 1911 AD b) 1901 AD c) 1921 AD d) 1821 AD

5. Who is commonly known as the father of Indian Constitution?

a) Dr. B R Ambedkar b) Mahatma Gandhi ¢) Vallabhbhai Patel d) Jawaharlal Nehru
6. Who is the first Assamese Governor?

a) Gopinath Bordoloi D) Bishnuram Medhi c) Mahendra Mohan Chowdhury d) Debananda Konwar
/. Who discovered the laws of Motion?

a) Marie Curie b) James Watt c) Sir Isaac Newton d) Karl Marx

8. The Snake who makes its nest....... -

a) Chain Viper | b) King Cobra C) Krait | d) Saw scaled viper

9. What can be the interval between two sessions of Parliament?

a) 3 months | b) 4 months C) 6 months d) 9 months
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10. Who is the present Governor of Assam?

a) Jagdish Mukhi b) Arvind Dave ¢) Vishnu Sahay d) Gulab Chand Kataria
11. Who is known as Nepoleon of India?

a) Samudra Gupta b) Chandragupta c) Ashoka d) Harshabardhan

12. Assam’s soil is suitable for which food grain—

a) Rice and Tea b) Apple and Grapes ¢) Coconut and Spices d) Wheat and Pulses
13. The main component of hemoglobin is—

a) Sodium | b) Potassium c) Sulpher d) Iron

14. Recently, the Bhopal Declaration was released after which meeting?

a) ASEAN b) SAARC ) G-20 d) G-7

15. How many women will be given Padma Awards in the year 20237

a) 25 b) 18 c) 09 d) 19

16. How many National Parks are there in Assam?

a) 6 b) 7 c) 5 d) 10

1/. Sri Surjya Pahar, an archaeological site is Iocated in which district of Assam?

a) Bongaigaon b) Goalpara c) Dhubri d) Kokrajhar

18. The division of power between the Centre and the States is contained in the constitution of India in the—
a) 3" schedule b) 5" schedule ¢c) 7" schedule ” d) 8" schedule

19. What is the principal food crop of Assam?

a) Puises b) Rice ¢) Wheat d) Bazra

20. Who was the first Indian Governor of the RBI?

a) C. D. Deshmukh b) S. Mukherjee C) Sachindra Ray ' d) None of these
21. 1,6, 13,22,33,(.....)

a) 44 b) 45 _ c) 46 d) 47

22. 2A11, 4D13, 12G17, ?

a) 36119 b) 48]21 c) 36121 d) 48]23

23. If PALE is coded as 2134, EARTH is coded as 41590, how is PEARL coded in that code?

a) 29530 b) 24153 c) 25413 d) 25430

24. If clock is called television, television is called radio, radio is called oven, oven is called grinder and grinder
is called iron, in what will a lady bake?

a) Radio b) Oven c) Grinder d) Iron
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25.If in a certain code , SWITCH is written as TVISDG, which word would be written as CQFZE?

a) BARED

b) BRAED ¢) BREAD

d) BRADE

Select the correct preposition out of the four alternatives:

26) Birds feed

fruits and Insects.

a) On b) With c) For
27) The old man died hunger.

a) For b) By c) From
28) My sister excels dancing.

a) at b) in C) by
29) I cannot agree your proposal.
a) to b) with C) on
30) Do not boast your health.

a) for b) of C) in

d) To
d) Of
d) on
d) at

d) at

Which one of the following words is correctly spelt:

31) a) Leftanant

b) Leiutenant

32) a) Remarkeble b) Remarkebel

33) a) Entreprenuer b) Entrepraneur

C) Lieutenant
C) Remarkable

C) Entrapreneur

Choose the correct sing le words of the following:

34) Science of plants

a) Zoology

b) Botany

35) The home of a Lion

a) Drey

D) Burrow

36) Animals living on grass

a) Herbivorous

Choose the correct tense form from the alternatives given below:

37) If you

a) neglect

b) Graminvorous

your studies, you will fail.

b) have neglected

c) Geology
c) Den

c) Grassyvorous

C) are neglecting

d) Lieutanant
d) Remarkabel

d) Entrepreneur

d) Physiology

d) Byre

d) None of these

d) none of these



38) It raining for a week.

a) is raining b) has been raining C) rains
' 39) Virat Kohli cannot play in the match as he his foot.

a) had injured b) injured ¢) has injured

40) Find the odd one out:
a) May b) August ¢) June
41) Z is the father of X and Y is the brother of X. What is Y to Z?

a) Brother b) Sister C) Son
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d) was raining

d) none of these

d) January

d) Daughter



Practical Test [Limited Departmental Examination]
Total Mark : 20

Job 1: Type the following content on MS-Word

Mark: ¢

All but the simplest human behaviour is ascribed to Intelligence, while even the most complicated
insect behaviour is never taken as an indication of intelligence. What is the difference? Consider the
behaviour of the digger wasp, Sphex ichneumoneus. When the female wasp returns to her burrow with

- food, she first deposits it on the threshold, checks for intruders inside her burrow, and only then, if the coast
Is clear, carries her food inside.

1 Copy the para to 5 new paragraphs ' Mark : 1.5
2 Format the para with Justified alighment Mark : 1.5
3  Format 2nd para to BOLD type Mark : 1.5
4 Format the 3" para to different Font Type Mark : 1.5
5 Format the 4" para to Font Size of 15 Mark : 1.5
6  Format the 5" para to different color than black Mark : 1.5

Job 2: Prepare ’rhe following table with data in MS-Word

Mark : 6.5
| Marks __. Mark (I_\;Iale) IV_Iark_(i=e[naIe_)- | " 'i‘oi_:al

30-40 | 12 | 4y 27
40-50 | 23 - 20 EKE
50-60 25 30 55 _
Total . Sum of above three Sum of Above three sum of above three )
Steps Marks (Breakup) )
I. Drawing table 2
2. Entering dato 2.5
3. Calculation of total , 2
Job 3: Save above word document in your windows deskiop with file name
StudentMarkSummary.doc'.

Total Mark ; 1

Job 4: Copy the saved document StudentMarkSummary.doc’ to ¢: drive and rename the file
name as ‘Summary-Final.doc’.

Total Mark : 1.5

Job 5: Open the ‘Summary-Final.doc' in MS-word and configure the page size as ‘A4’ and save
again. ' '

Total Mark : 2

N.B. Please keep your work 'open fill examiner checks the Jobs assigned.



